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Ql

Q2

SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Read the following question and decide Ql
which of the additional information given in
the options is required to answer it correctly.

A is taller than B, who is shorter than C,
Who is the tallest person among them?

(A) C isnot the shortest person.

(B) Bisnot the tallest person.

(C) The average height of Cand B is the
same as the height of A.

(D) The average height of Aand B is less
than the height of C.

Read the following question and decide which Q2
of the additional information given in the

options is required to answer it correctly.

A is the son of B, who is the husband of C.
D is the mother of E and wife of F. How isB
related to F?7

(A) The mother of D is the mother-in-law
of C.
(B) A and E are cousins.

(C) Bisthe uncle of E.
(D) A isthe nephew of D.
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Read the following question and decide which
of the additional information given in the

options is required to answer it correctly.

Five students, A, B, C, D and E, are standing
in a queue such that A, C and E are NOT at
the extremes. Who is standing at the first

position in the queue?

(A) Eisahead of C but behind A.
(B) A isahead of C but behind D.
(C) Eisexactly in the centre.

(D) There are 3 students ahead of C.

Choose the odd one out.
(A) DVW

(B) GST

(C) JPQ

(D) MNK

Select the term that can come in place of *7"in
the following series.

IBY, 6FV, 11JS, 16NP, ?

(A) 21QL
(B) 210M
(C) 2IRM
(D) 210N
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F=foien g &1 @ ik Fuifa =
& oo vt o 39 & fog feeat &
X frw afoRe g & owm 2

gt 819 A,B,C, D Y E, t® ufte &
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(A) E,CH 3t 8 afda A9 fi9 &
B) A, CHam g afd = Da 99 &
(C) E facma w4 8
D) CH 3 3 v £

FReferiae A W aria ug @1 wg Aiforg |
(A) DVW
(B) GST

(C) JPQ
(D) MNK

B UT &1 ugq oy o Frefafea
saen § gefaes (7) & W 9 g

IBY, 6FV, 11JS, 16NP, ?
(A) 21Q0L
(B) 210M

(C) 21RM
(D) 210N
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If in a code language, TABLE is written as
SYYHZ, how will CHAIR be written in the
same language”?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BEXEM

If+ implies—

— implies *

* implics +

+ implies +,

then select the option that gives the proper
sequence of signs that when filled in the gaps
of the given equation will correctly complete

the same.

61235 15=11

(A) +, =+,
B) +, - %, +
(C) +,%x, -+
D) —+H+*

LM-D
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u® 3 W # afe TABLE @1 SYYHZ
forear wmen &, o 9% T W § CHAIR
o @ feran wgm?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

ofg + @ aed - 2

~r aef x

1 3 + 8

+ @ 3 + B,

i 99 ey & w7 W orwl fae
&1 oftra IR Teian T @ o Ry g
WAIEToT & e § WY WIF O e @
A FA QR B

6.12.3 5 15=11
[A} ¥, =% X
{B} +1 - xi *

[f.] %= +
D) =+ %X
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Q10

Select the figure that is related to figure C in
the same way as figure B is related to figure

4l L] =i}
o0
A 1o -
¢ 0
®loe
o 0o
©l=e
oo
O le o

Identify the odd one from the given list,

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Overlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list,

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar
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(A) TEEFA

(B) I

(C) sita—forarn
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e gt # @ = &1 wam wY)

AR, WYY, SNER, BONY, 3O

(A) g
(B) BavgR
(C) fvirems

(D) g=
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The following diagram is the outcome of a
survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

(A) The total number of employees who
responded to the survey was 54.

(B) 30employees can speak Hindi.

(C) 30 employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If *1is
exactly opposite *5°, then which number will
be exactly opposite ‘2°?

(A) 3
®) 4
© 5
D) 6
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John started from point A and walked 12 km
towards the east, turned left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) Bkm

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement.

Statement;

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too.

Conclusion:

I)  Women and children should not be
allowed to attend election rallies.

II) Election Commission should issuesa
strict code of conduct for all politicians.

(A) Onlyconclusion | follows.

(B) Onlyconclusion Il follows.

(C) Either conclusion | or Il follows.
(D) Neither conclusion | nor Il follows.

LM-D
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Wi fig A9 fig B vded & fav o
Bl AR 12 km Foa &, v A ol g
7 5 km 3R wowan #) oifor 0 fig AR
{45 B W 9= & T 3 km 2w & aiw
aera 2, fR a1t aiv 78 @ 18 km iR
o 81 g AR B @ dra =pwem gf
frert 2
(A) 6km
(B) 8km
(C) 10km
(D) 14km
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Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear wamning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh's
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

. Government should try to negotiate with
the transport association to cancel the
strike.

[I. Shoppers must buy and store some
extra vegetables beforchand.

(A) Onlyaction|
(B) Onlyaction Il

(C) Both actions I and II
(D) Neither action I nor Il

LM-D
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Q17
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Q20

If Visible :: Eyes, then Audible :: 7.
Identify what can come in place of *?".
(A) Brain

(B) Nose

(C) Heart

(D) Ears

If Book :: Author, then Song :: 7.
Identify what can come in place of *?".
(A) Script Writer

(B) Lyricist

(C) Director

(D) Producer

In a certain coded language, if COPPER is
written as CI5P16E18 and SULFUR is
written as S21L6U18, then how will the word
SODIUM be written?

(A) S15D9U21

(B) S19D4U21

(C) S15D9U13

(D) SISD2IMI13

Pointing at a child performing on the stage, a
man in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Uncle

(B) Nephew

(C) Grandfather

(D) Brother

LM-D
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Q20

afe gdia o s, ot s 7

o W 6 gEfes () @ wE w®
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(A) wftess

B) 7w

(C) ®=¥

(D) &
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(A) UTH AEH

B) Hroer

(C) Fews

(D) frmfan

v ffire g Wi % afd COPPER &t
C15P16E18 feran wiran & afik SULFUR
® S21L6U18 formr wmar & o weg
SODIUM &1 &9 forar smga?

(A) S15D9U2I

(B) S19D4U21

(C) S15D9U13

(D) S15D21M13
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3T & gy i@t A @ e afdm 9
e, ‘T8 Rrea & g &1 e # ) Rew
W gF B A B W B g R Al 9
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W g T & for § 37 we &7
(A) ==/ AT/ A

(B) weirat / wia

(C) =rer

(D) g
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Given are four statements followed by four
conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements:

l. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocatisanelephant.

Conclusions:

I) Some cats do not sleep.

) Some elephants bark.

lI) Cats who bark are elephants.

IV) Elephants who do not bark are cats.

(A) Onlyconclusion follows.

(B) Onlyconclusions]and II follow,
(C) Onlyconclusions T and IV follow.
(D) Only conclusion III follows.

Study the following series and identify what

can come in place of *?".

STEM, MFRYV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW

[l

H

Q21 WR U 3R 9HS T% uN Fresd Ry

8§ fafta = 5 & Wi/ Pl
Ry 7y Pt @1 Fi¥ea w9 9§ s
/B R/, W BT A R
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3. el W 8
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I o Rfeedt died £ ¥ erh £
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(A) e Fresd | argeeer wven €

(B) @ael fend 130 11 s ol €
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(D) @ae Frepd M1 srgevor o &)

frefafm sea s W T ol
vElEE (‘7))@ ™F W PN W e
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STEM, MFRYV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BOQAW

SERIES-D-F




Q23 Studythe following seriesand identifywhat Q23 Fr=fafea e S W@ vy ¥ 5

Q24

Q25
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can come in place of *7".

JAM24, LEK28, NII32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

PO0YS L

Study the following series and identify what Q24

can come in place of *7".

83, 77, 68, 56, 41, 23, 7
(A) 2
B) 7
(C) 10
D) 1

of the additional information given in the
options is required to answer it correctly.

The age of a father and his son is in the ratio

of 13 : 3. If the age of the mother is 33 years,

what is the ratio of the age of the father to
that of the mother?

(A) Thedifference between the ages of the
father and the son is less than the age
of the mother.

(B) Theage of the father at the time of
marriage was 27 years,

(C) Theaverage age of the father and son
is more than the average age of the
mother and son.

(D) Theaverage age of the father and
mother on the son’s first birthday was

28 years.
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Q25

e (‘)@ WF W P W 9
STYT?

JAM24, LEK28, NI132, POG38, RUE44,
TAC24,?

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Frafofaa sfaar 1 @ ofv v =t 5
e (“77) 3 wF W A A we
AT

83,77, 68, 56,41,23,7
(A) 2
®) 7
© 10
O 1

frafafta v o of sl Peife =%
& go@1 vl I 9 @ oy Resd 4§
¥ fru affen o & o §)

vs far sk g3 @ ang 13:3 @ sum

A &) aft =wn @t ang 33w &, o Ran

B 1Y BT A B A A e 87
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o g | TN 8

(B) faare & wwa Rar o anyg 27 of
o

(C) foem afik g= &t affeer arg, wiem afv
73 & afvea sy @ afe )

(D) 93 & T8a wfee oy e ik wmn
@t afre wrg 28 o ot
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:
(A) T 700 crore

(B) T 500 crore

(C) T 600 crore

(D) T 400 crore

International Centre for Automotive
Technology (ICAT) is scheduled to organise
NuGen Mobility Summit 2019 inNovemnber
at which of the following locations?

(A) Mumbai

(B) Manesar

(C) Bengaluru
(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

13
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st 2019 % Remw ot 37 feeed
gl ¥ dedte = Al weEsm wi
Haptik &1 aférrsor far?

(A) T 700 H3

(B) T 500 T8

(C) T 600 TS

(D) T 400 TS

gerITe Hew o sfcmifes et
(ICAT) 7daz % <[ (NuGen) #ifaferé)
R wdeE 2019 Freefafaa 4 9 fea
T Y ST e arell 87

(A) g
(B) WY

(C) ¥nge
D) &%

Prefafem % & o= @ Foh dfa
TikTok @7 warfica ve &7

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps
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Q30
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In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

{A) Imran Khan

(B) TheresaMay

(C) Emmanuel Macron

(D) Narendra Modi

Who among the following has become the
first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

Asof April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria

710340948
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(A) TR @H

(B) e &
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(A) i

®) ewrm

(C) o

(D) 3ifz
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As of April 2019, who is the President of
the Confederation of Indian Industry (CII)?
(A) KumarMangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajsj

Asof April 2019, who is the Chancellor of
Tamil Nadu Agricultural University (TNAU)?
(A) Trilochan Mohapatra

(B) Ajay KumarSingh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

As of July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) AnantGeete

(D) Radha Mohan Singh

11140098
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(A) TR e fRRen

(B) 3rehe fegom

(C) famw freiteay

(D) TSig qSIT
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(A) P 7e=

(B) 3 FER e

(C) wfer ammEr
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Q35

Q36

Q37

Which ofthe following countries is the largest

producer of wheat in the world?
(A) France

(B) China

(C) Australia

(D) Canada

The Keetham Lake and Sur Sarovar Bird
Sanctuary are located near which of these
(A) Jhansi

(B) Kanpur

(C) Lucknow

D) Agn

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(©) Jaipur

(D) Hyderabad

LM-D

Q35

Q36

Q37

Freferfa § 9 @ wr 2w fawa 3 0
W WA a9 Seaew dw &7

(A) Wi

(B) ¥

(C) aiteferar

(D) @raT

foem dia afv g wier vl aprawvg
Frfaftm /e e & o fem @2
(A) Hi¥
(B) ®TTR
(C) &aTS

(D) FTI

WINA @ B W WER uRE weEsT
a s w &

(A) e

(B) vaferaw

(C) wrage
(D) BavmErg
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Q38

Q39

Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara'? It
means * Your Security Our Resolution’.
(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G what does the letter G stand for?
(A) Gap

®) Gigabit

(C) Gateway

(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB DeVilliers

(B) GaryKirsten

(C) Adrian Dale

(D) HashimAmla
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Freifafan 4 ¥ e won 6 ofew @1
yrdn gy & g Hae—
BARIT? §HH1 3 ® o g w9
wweq #)

(A) anfemm gfers

(B) o gfer

(C) 9w waw gferw

(D) sfamm gfew

3G, 4G 3R 5G 1 arge e swen
¥ G & T o g &2

(A)

B) frmfae

(C) A

(D) S

aftror anfer @ oW qd Reard & =
am & it adar 7 2019 Hom @ e
dfaa detord e (RCB) frdbe &m &
e @ #?

(A) v, & faferad

®) M s

(C) e 8@

(D) wif¥F s
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Q41

Q42

Q43

Indian Railway Minister Piyush Goyal has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
of this railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) SeemandhraRailway Zone

Ikhias Khan's Roza (mausoleum) is situated
in which district of Uttar Pradesh?

(A) Meenut

(B) Saharanpur

(C) Jhansi

(D) Budaun

What is the full form of RFP, which is used
in the context of an RFP document in the IT
sector?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process
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N ¥ #A) iy iRt 3 g6 w0 9
A 2w B fog UH AU Ve o\ Bl
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87

(A) Tl oe Y& oiF

(B) ¥E@HMHE! ¥eid S

(C) ®RFSd ae Yod W

(D) dm Yord oA

FEEATH W BT A9 () ITR 929
& frrafafaa fra e # Rea &2
(A) *Xo

(B) WERTYR

(C) i

(D) @=r,

RFP @1 Q%1 <14 41 8, foreast Suan IT
¥9ex # RFP gwaw & wodl # fvay
I 87

(A) Rate B wiraa

B) R wiv afews

(C) Reve wiv v

(D) ey whiE W
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Q44

Q45

Q46

Q47

Watson computer is a product of which of
the following companies?

(A) Microsoft

(B) IBM

(C) Google

(D) Dl

Kevin Systrom and Mike Krieger are the
founders of which of the following?

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj (Allahabad)
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Q44 diews et Fr=fafea 4 4 e $o

Q46

Q47

@l Higae &7
(A) Microsoft
(B) IBM
(C) Google
(D) Dell

B Rt o A e Prerfafa
i W e W 27

(A) WhatsApp

(B) Twitter

(C) Instagram

{D) Linkedin

Ty iy Rwafamen @ wroe
frferfaa # & fws @

(A) e SR

(B) orer view faremeff

(C) Mfawg oo o

(D) W& #E AEE

TE1 gAMATS WIRG $al [ed 87
(A) TETH

(B) TRt

(C) FFR

(D) WUPRI (FT8ER)
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Q48

Q50

Q51

Who among the following was popularly
referred to as the Sher-e-Ballia?

(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Q48

Who was the Samajwadi Party [SPE Q49
o

candidate from Lucknow contesting against
Rajnath Singh in Lok Sabha Elections 20197
(A) Suresh Bansal

(B) PurviVerma

(C) UshaVerma

(D) Poonam Sinha

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United

Provinces. In which year was it named as

- Uttar Pradesh?

(A) 1947
®) 1951
(C) 1950
(D) 1948
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Q50
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frefafg # 4 fF Iv—v—aftm &
A W T SR T

(A) wTa s

(B) TG AR

(€) Fory wid

(D) #rer wig

BT GG 2019 % F@% | oYy
e & faams o o (Fa) @
Irigar Frafafes 4 & o9 ur?

(A) g T

®) @i

(C) w1 gAt

@) T s

T 9oy Wy # gieT a fee 99 W
T a1 87

(A) IRET

(B) ==

(C) &

(D) =TERT

ST W3W BT GEw YR Wid B WY F
ST e o | 39 R ad e e o
T R mar ur

(A) 1947

(B) 1951

(C) 1950

(D) 1948
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Q52

Q53

Q54

Q55

Who was the first Governor of Uttar
Pradesh after it got renamed as Uttar
Pradesh from United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAliKhan

In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit
Singh?

(A) 1800

(B) 1805

(C) 1806
(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) Swami Dayanand Saraswati

(C) Keshab Chandra Sen

(D) Swami Vivekananda
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Q52

Q53

Q54

Q55

HYF Wid ¥ IR We¥ B w9 H M
5o @ 915 IR WSW HT Teal voadTd
B 97

(A) TEAR dHe AR

B) ErFwe fRame Wl

(C) fawa=mg T

(D) e el @

afirat & Raems A T R gee
2 A R s, deoie g e af
B3 ar?
(A) 1812
(B) 1800
(C) 1806
(D) 1813

e ad 3 e R wel A ool Riw
& W SOAY Bl UEell W W SRR
fau?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

1828 3 @1 WAl @1 e Ffofa
¥ ¥ fas grr o g 4P

(A) YT I WA X

(B) Wit gUFE G

(C) P dx ¥

(D) vard fAdsre
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Q56

Q57

Q58

Q59

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825
(C) 1853
(D) 1840

In which of the following locations was the
first post office in India established by the
British East India Company in 17647

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) LalaLajpat Rai
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Q36

Q57

Q58

TO7TO6416

Q59

qag (dM; o el REnh wERw
i) & o e T A gee o ¢
farer af =t o2

(A) 1835

(B) 1825

(C) 1853

(D) 1840

1764 # fafew S 3fEar oo+ arr wila
HRT &1 UBe €16 uY Frfofaa 4 4
fpe W 9w up?

(A) fafoam

(B) o

(C) e (31 %)

(D) d1 (39 Has)

Wi et g1 R faar T Ad-fiey
guR, Fre=fafag & @ few af #
sfefFafm e

(A) 1909

(B) 1920

(C) 1895

(D) 1897

HEre T &1 wsfar ey @afa
1 dTel UBe Afd @ o

(A) WYER o

(B) i @dd 8w

(C) i @w

(D) ©Tell STagd g
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Q60

Q61

Q62

Q63

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Sail

(C) Air

(D) Fungi

As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Brazil

(C) Malaysia

(D) Vietnam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madurai

(B) Tiruchirappalli

(C) Erode

(D) Coimbatore
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Q60 FXfagme e S i oy 7 Rew
&?

(A) TeH

(B) 3

(C) #d

(D) e wew

Q61

Q62

frrfafen § 2 @ W1 oA e &7
(A) T

®) T
() &
(D) FaT

a9 2014 T, ITTE SFEGN B ITAR,
frafafen # & o= w faw 4 &9 &1
I Seues dw 7

(A)

(B) AT

(C) werfrar

(D) famar

g @ e Rt Feod B W
| W W aren 1€ iee 49, O 6
wae @ a3 & 1o 8, Rew ¥
(A TR

(B) frsfemgeet

(€) T

(D) PR
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Q64 As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australia

(D) Indonesia

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery
(B) Brahmani

(C) Vaigai
(D) Pennar

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Aluvial

(C) Red

(D) Laterite
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Q64

Q65

Q67

ad 2012 9%, SUEE TEEE B IR
frea % diawrge & FaH 4@ SEES 0
@ &7

(A) Wi

(B) W

(C) sifeiferan

(D) &

Ffaft 4 9 @ @ 78 g Rafsh
& M | F w82

(A) ®rad

(B) s

(©) ¥g

D) ¥R

IR B AR I B 7 Wl B
fr=fafa 4 9 e am @ @ amen
&7

(A) Rdsew

B) T

(C) dfweaw

(D) Eifdwear

ey Al wie Preefafia § @ e
R A g &7

(A) ®eh

(B) weg

(€) &=

(D) devge
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Q68 In which country is the Tanami Desert Q68
located?
(A) China
(B) SouthAfrica
(C) Australia
(D) India

| Q69  Asof March 2019, how many fundamental Q69
! duties are there in the Indian constitution?

(A) 6

B) 7

) 9

D) 1

TO346416
o

b |

=

Q70 India has signed an MoU in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (IAIARD) in which country?
(A) Zambia
(B) Malawi
(C) Tanzania
(D) Kenya

LM-D 25

e Wi Freafafa § F fea <w
i feem &7

(A) =+

(B) lET 3mpian

(C) sifegforan

(D) W@

A1l 2019T%, SYTE TSN B ITER
AT WREE 4 fee ifes ada &
(A) 6
®) 7
© 9
®@) 1

aRd 7 fbw 29 % ARa—anhieT B s
YT AT Wi (IALARD) @) Ig=r
% fow JeFe 35 ok (fiecw U8
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(A) wfraar
(B) wemdt
(C) aonfrar
(D) &=
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Q71

Q72
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In2018-19, for the second sﬁwessivayea:.
which state has been ranked first in e-leaming

training programme of the Department of
Personal and Training (DoFT) of the
Government of India?

(A) Tamil Nadu

(B) Kamnataka

(C) Telangana

(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25" March

(B) 2™April

(C) 10*April

(D) 24" January

Asof March 2019, which s the third-largest
bank in India?

(A) Indian Bank

(B) Bank of Baroda

(C) ICICI Bank

(D) Canara Bank

Q71

Q72

Q73

TOBGE416

2018-19 ¥ &R gER ad @ forg, fw
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(A) Tferrg

(B) T

(C) T

(D) ¥

o yew fagw Frafafeaa 4 9 @
AN Y w9 W 82

(A) 25 wrd

(B) 23t

(C) 103md&

(D) 24 Wl

H 2019 T, SUAE TEGN & ITER
RE B TR T a9 § BT W 8e
(A) e ¥

(B) ¥& aite adar

(C) amE¥andwhend =
(D) &A1 &%

SERIES-D-F




Q74 Reliance Mutual Fund has partnered with

Q75

which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(C) Google

(D) Infosys

As of March 2019, what is common to
these four countries — South Sudan, Libya,
Yemen and Greece?

(A) Allare African countries

(B) Allare monarchies

(C) Allare Mediterranean countries

(D) Allofthem have had an average

10-year negative economic growth

LM-D
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Q75

w

TOEIn41

Reamw =gaa ve 3 Frafafeaa § @
5 Foit & W anare-amnRa e
7T I TR B forg W B ¥

(A) IBM

(B) Accenture
(C) Google
(D) Infosys
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Q76

Q77

Q78

SECTION-3| GENERALSCIENCE / ARITHMETIC | 50 QUESTIONS

Shilpa travelled at a speed of 20 km/h for 3
hours and an equal distance further at a
speed of 15 km/h. The average speed of
Shilpa (in km/h) is:

|
) 173
®) 17+
7
©) 16>
2

|
(D) 155

In APOR, £0=90". A, B and C are the
midpointsof 70, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) P, A, Band C are concyclic points
(B) R. B, A and C are concyclic points
(C) Q. A, Cand B are concyclic points
(D) Allofthe given options

If & is the measure of an angle which is
equal to its complement and 4° is the
measure of an angle which is equal to its

supplement, then % is:
(A) 3

B) 1

(C) 2

(D) 0.5

LM-D

E

28

Q76

Q77

Q78

fare & 3wel & fag 20 km/h 3 1R A
afe Fereht & afe g8 F115 km/h B WY
W wa fasar) e & s i (kmh
) W ) '

1
(A) ”5
17+
®) 175
Iﬁl
(©) 163

|
(D) 15;

APQR # £0=90° 81 4, B3R Cown
PO,OR ¥R PR @ W fig &1
fPrafafaa 4 @ @9 W a7 w8 &7
(A) P A, B3R C g fig &
(B) R B, A 3v Cvwgda fig €

(C) Q. A C3lR Buagea g &
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e o° @ PO B AT W TR
TS @ AR & AR [OUE B
O S ATRS @ ek B,
%.‘lﬂ'ﬂﬁl

(A 3

B 1

(€) 2
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Q79 Ramesh sold a box at 10% profit to Suresh.
Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit is T 44, then the cost price
of the box for Ramesh is:

(A) T 200
(B) T 150
(C) T 100
(D) T 250

Q80 Mahesh had x number of trees in the year
2011. Every year, due to new plantation, the
number increased by 10%. In which year
will the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017
(B) 2016
(C) 2015

D) 2014

Q81 A moneyamountsto¥ 4,200 in 3 yearsand
t0 ¥ 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

1
®) 125%

(C) 30%
D) 25%

Q82 For the first 567 natural numbers, the
arithmetic mean will be:
(A) 2835
(B) 284
(C) 2845

(D) 283
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Q80

Qsl

Q82

T A (% q@9 10% &M T G B
49T | R A I 20% W U MUY B
4g | afy {3 A T 44 3 o affa
faan &t v @ forg 59 s T T q
e 87
(A) T 200
(B) T 150
(C) T 100
(D) T 250

af 2011 % w9 & U x U o | WS
af, A7 gAY @& SRV, W weAr #
10% @ gfg & @l &) o ugeh am
fawa v 3 2011 @ ger # Ot 9w
& | B 50% ARE 8 we?

(A) 2017

(B) 2016

(C) 2015

(D) 2014

T EFRIRT AR & oY UR 3 ad i
74,200 3 6 94 3 T 6,000 B Wil 21
& P oY o &7

(A) 20%

:
®) 125%

(C) 30%
(D) 25%

TEel 567 WIplas WAl & HHOT
Ak fasaen sem?

(A) 2835

(B) 284

(C) 284.5

(D) 283
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Q83

Q84

Q85

Q86

Q87
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A cone has its base radius as 7 cm and slant
height as 25 cm. The volume of the cone
will be:

(A) 1232cm’

(B) 3696 cm’

(C) 1864 cm®

(D) 2464 cm?

Out the following numbers, which one is
NOT a perfect square?

(A) 3136

(B) 12544

(C) 1296

(D) 23832

The decimal expression for 8 rupees 8 paise
(3

(A) 88.0

(B) 8.008

(C) 8.08

D) 8.8

In the product of the first 35 even natural
numbers, the digit at the ten’s place is:

(A) 2

B) 6

€ 5

D) 0

Out of the following, which is the greatest?

(A) (49]3‘
® 7

SL¥EEG0L

(©) (244}1}_?'

(58]
©) 343

Q83

Q84

Q8s

Q86

Q87

@ Y| @ mER B e 7 om iR
e 9urd (wie &) 25em B OiE
o1 e faa sem?

(A) 1232 em?

(B) 3696cm’

(C) 1864 cm’

(D) 2464 cm®

el demit § § @9 & w@en
e oot af Y &7

(A) 3136

(B) 12544

(C) 1296

(D) 23832

8§ vqd 8 49 @ quiw @ fv swmed
sfrafi T 8efi?

(A) 88.0

(B) 8.008

(C) 8.08

(D) 8.8

UEel 35 W1 WiPhis Wi @ UEha
¥, B B WIF W I W 3qF S07
(A) 2
B) 6
(C) 5
D) 0
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(A) (49]§
B) 7

© (24{11)_7'

1V
(D) (ﬁ]
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Q88

Q89

Q90

Q91

Q92

If2* x 5*endsin 5, then the value of x is:
(A) 1

(B) 0

(C) 2

(D) MNovalugofx

The LCM of two co-primes (aand b ) is:
(A) a-b

(B) a+b

(©) alb

D) ab

The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
(B) 125
(C) 130
D) 160

IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
®) 2:3
© 3:1
D) 1:3

X takes 8 hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working

together but independently, to complete the
same task?
(A) 4days

(B) 4% days

5
(C) 4; days
(D) 5days
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Q88

Q89

Q92

A x5 DIATHASETE @ xd
a9 e g

(A) 1

(B) 0

(C) 2

(D) x @ PIg A 76 81N

S HE—3HISd WEARIT (o 3 b) &1 g
HHUadS a1 8

(A) a-b

(B) a+b

(C) alb

(D) ab

fed wen 3k 9ue - & 4
I e 60 8 | AT |/ 87

(A) 120

B) 125

(C) 130

(D) 160

gfd A:B=3:7aRB:C=7:98, @
A:C o AEN B |

(A) 3:7

(B) 2:3

(© 3:1

D) 1:3

et &M &1 @ F B forg X @ g Ee
ARSI FH ST W aE & v Y
B 126 I & | S B B QT HA
# forg X alm Y &1 uy fe &, oifda
waa w9 W, o e am?

(A) 4=

4

(B) 43 f&=m
5

(C) 4; &=

D) 5f=
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Q93 Find the area of a square whose diagonal is Q93 s a7 forms el & o 1om &,

10m long. TP HABA T B |
(A) 10m? (A) 10m?
(B) 50m’ B) 50m?
(C) 100 m? (C) 100m?
D) 110m’ D) 110m?
Q94 Solvethe following. - o9t Preiffer 7 53 BY)
— gin? 1=
®) 1 E‘;; ‘:
il (©) sing
1 M (D) cosg

SLvoRE0s

Q95 Find the range of the following data. Q95 Prefafaa =er 9 Yo s ¥

32,45, 16, 28, 69, 34, 29,54, 48 32,45, 16, 28, 69, 34, 29,54, 48
(A) 16 (A) 16
®B) 44 (B) 44
(C) 53 (C) 53
(D) 54 (D) 54
Q96 What was the name of the first spacecraft Q96. 1975 % W g @i vy v wEd
launched by India in 19757 siaRe o @1 AW F91 917
(A) Bhaskar (A) WY
(B) Aryabhata (B) smdwz
(C) APPLE (C) Tue
(D) Rohini (D) Wfeh
Q97 Whatisthe total route lengthof theproposed @27 e i st sie iR @t ofarg
Eastern Dedicated Freight Corridor? fawerit 27
(A) 1556km (A) 1556km
(B) 1656km (B) 1656km
(C) 1756km (C) 1756km
(D) 1856 km (D) 1856 km
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Q98  Which of the following missiles developed
by DRDO is an air-to-air missile?
(A) Prahar
(B) Shaurya
(C) Astra
(D) Prithvilll

Q99 Deficiency of which vitamin causes rickets?
(A) ViaminD
(B) VitaminB
(C) ViaminE
(D) VitaminA

Q100 Which of the following diseases occurs due
to the deficiency of proteins?
(A) Goitre.
(B) Kwashiorkor
(C) Anaemia
(D) Bronchitis

Q101 Which ofthe following diseases can be cured
by increasing intake of citrus fruits?
(A) Pellagra
(B) Blindness
(C) Scurvy
(D) Osteoporosis

Q102 Which of the following statements is TRUE
about the process of evaporation?
(A) Liquid state is changed to solid state.
(B) Gaseous state is changed to liquid state.
(C) Solid state is changed to liquid state.
(D) Liquid state is changed to gaseous
state.

LM-D
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Q98 prpo &R fAHfha Fr=fafes 4 4 29
# fraEa sar @ a1 ¥ AR S A
% fRega 87
(A) WER
®) ¥
(C) e

(D) gt 1

frafoafan % 4 v Refs @ a0 9
Raega & ot 2t 87

(A) faef= D

B) Ref*= B

(C) faeif=E

D) fefm A

Q100 &M 1 & & TRl Frafofaa 4 9
o o e Bl &7
(A) TEex
(B) TafiRieR
(C) itfaan
(D) wiwEew

Q101 &g wall & da o go | Fr=fafe
# 9 31 O 9l 3 B wwar 27
(A) U&rn
(B) 3
(C) wndi
(D) SRR

Q102 arsfiwor @t uipar & an # Fr=fefea
# 9§ I W oye w87
(A) w9 aw, S @ ¥ a5e o
21
(B) iy arawen, w9 v ¥ 5@ wEn
.4
. (C) o yawn, w9 e ¥ g9 oar
4]
(D) =T awen, {0y e ¥ aga W
Bl
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Q103 Which of the following has resulted in the
deterioration of water quality?
(A) Improper disposal of sewage
(B) Deforestation
(C) Incorrect distribution of water
Tesources

(D) Overpopulation

(2104 The Sl unit of stress is:
(A) joule
(B) pascal
(C) volt

(D) watt

Q105 Name the instrument used to measure
absorbed or evolved heat.
(A) Ceilometer
(B) Colorimeter -
(C) Calorimeter
(D) Clinometer

Q106 Name the force that binds protons and
neutrons in a nucleus.
(A) Electromagnetic force
(B) Weak nuclear force
(C) Gravitational force
(D) Strong nuclear force

Q107 Protium, deuterium and tritium are:
(A) isotopes
(B) isobars
(C) isomers

(D) isochors

LM-D
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Q103 fFr=ifeRas & | fraa aRemasy ol
# o ¥ fivmEe ang &7
(A) e g &1 Twd ¥ Fues T $E
®) @i B FeE
(C) wie HamEHl &1 Terd faave
(D) Iafeys weraEn

Q104 WRET (stress) &1 SI garg a7 87

(A) v&
(B) grmel
(C) diee
(D) T

Q105 Frfaftaa # & 5w 43 &1 S
e a1 el Son (heat) @ 7=
@ fag fmar e 82
(A) Raeimex
(B) BrefAreT
(C) danmiier
(D) faeeinfex

Q106 v& 7 # WieH 3w <ggH &1 4w
arel 99 B T FE 87
() Ry g 7
(B) g¥a AT Ta
(ORisavica LR
(D) was TS T

Q107 wifegn, =geRaw av fafeaw =t
Freforfaa § & e Soft # wr
27
(A) JMEHENY
(B) JgHER
(C) 3w
(D) IFHDR
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Q108 Which of the following gases is necessary for
combustion?
(A) Hydrogen
(B) Carbon monoxide
(C) Oxygen
(D) Methane

Q109 Which of these values represents pH of an
alkaline solution?
(A) 3
@) 2
©€) 10
(D) 3

Q110 Which of these is sonorous?
(A) Wood
(B) Water
(C) Rubber
(D) Tron

Q111 Select the water-soluble vitamin among the
following.
(A) VitaminsC
(B) VitaminK
(C) VitaminD
(D) VitaminA

LM-D

Q108 %87 & fog Frafofeaa 9 9 @ fw
AEES 87
(A) TR
(B) ®EA AFRifFES
(C) 3t
D) A

Q109 F=ifoifea % | ¥F w1 %= & adi
faerga @ pH &1 sftifftes ovar 22
(A) §
®) 2
(C) 10
D) 3

Q110 fr=fafea # 9 #19 Wi uer! e aife
(sonorous) TETef 87

(A) THE!

B) i

(€) R

(D) wrer

TOas4008

Q111 fr=fafi # % #% & ta wiel ¥ yediia
fefim 87
(A) fRrafFc
B) RefFmK
(C) f=if=D
D) faerfimaA
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Q112

Q113

Q114

Q115

Rimjhim’s physician advises her to avoid

consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor’s advice,
she can be at a risk of:

(A) kidney disease

(B) cardiovascular disease

(C) anaemia

(D) pancreatic disorder

Which of the following is a major source of
phosphorus?

(A) Potato

(B) Amia

(C) Orange/

(D) Milk

What is the false feet with which amoeba
ingests its food called?

(A) Axopodia

(B) Pseudopodia

(C) Filopodia

(D) Reticulopodia

In our body, where does 90% of our total
nutrient and mineral absorption take place?
(A) Kidney

(B) Largeintestine

(C) Stomach
(D) Smallintestine

LM-D
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Q112 fftm & fafscas A o9 wg@ T@n

(e be) e Ao & e da T
o o woE 9 8| aft Refim am
fafrea® @ Woms 31 TIEF 6 S o,
o1 o9 frafafaa # @ fRrwe @ 8
HaHar 87

(A) 7 o

(B) 5@ T

(C) Yaee

(D) sr=urv (Wisaiies) fAer

Q113 Fr=faftaa # @ o9 w1 BReRy 31 &

g w87

(A) e
(B) sitaen

(C) e
D) g8

Q114 Fr=fafem # & #F W1 U@ IR (false

feet) & forer apfiar a1g= Wi @1 Frrern
7 -

(A) TEEmIfEar

(B) wErfEar

(C) fraimifEa

(D) ReaemifEar

QI15 7R X # TN T e T IR

WS 3T &1 90% fEw o8 gar
27

A T

®) 79 i
(C) ammam
(D) BT 3
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Q116 Which among the following is referred to as
nearsightedness?
(A) Hypermetropia
(B) Hyperopia
(C) Myopia
(D) Astigmatism

Q117 Whodiscovered the X-rays?
(A) GalileoGalilei
(B) JJ Thomson
(C) Edwin Hubble
(D) WK Roentgen

Q118 What is the SI unit of time?
(A) Hour
(B) Second
(©) Minute
(D) Millisecond
Q119 Proteinsareoncofthe  nutrients
that provide calories.
(A) four
(B) three
(C) two
D) five

is also known as cobalamin.
(A) VitaminB12
(B) VitaminB5
(C) VitaminB7
(D) Vitamin B9

Q120
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Q116 fr=fafaa # & B9 Fee sfiesw &
wYq # e v #7
(A) srETERar
(B) sETIfar
(C) wrafaT
(D) wRemifew

Q117 vaa— ot W fes & o7
(A) Herferar Mo
(B) Wil uiREA
(C) ¥sfa= gaa
D) T, B. e

QI18 W & Sl soE Tar &7
(A) Her
B) s
(©) fre
() REGIET

Q119 W&, U el A W U 8
it FArd v T €
(A) IR
(B) W
€ =
(D) U

Q120 Fr=iferieaa 4 & o PEen™= @ W |
W T e 27
(A) fefmBI2
(B) Ref=Bs
(C) faerfd= B7
(D) faei™ = B9
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Q121 The greatest number that divides 59 and 54

with remainders 3 and 5 respectively is:
(A) 7
(B) 3
(€ 5
D) 8

Q122 Ifthe volume of a hemisphere is 18 7 cm®,

then the total surface area of the hemisphere
=

(A) 277 cm?

(B) 187 cm?

(C) 247 cm?

(D) 21 x cm?

Q123 Let ‘a’ and ‘b’ be two numbers. The HCF

of ‘a’ and ‘b’ is 4 and the LCM of ‘a’ and
‘b’ is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is: '
(A) 3

B) 4

(€) 2

D) 1

Q124 Tap A and B can fill an empty tank in 30

minutes and 60 minutes respectively. Tap C
can empty the full tank in 45 minutes. Ifall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18 minutes
(B) 36 minutes
(C) 24 minutes
(D) 30minutes

Ba0y &0

LM-D

j8

_

Q121 78 WAy ¥ W& & i & o 59

3R 54 1 o #vA w @A 3 sl
599 F9q 87

(A) 7

B) 3

(C) 5

@) 8

Q122 aft & g M &1 I 187 cm’E,

o 99 3 T B G waE AEmd
fewer=r grm?
(A) 277 cm?
(B) 187 cm?
(C) 247 cm?
M) 217 em?

QI23 7 & ‘a’ iR ‘b’ &1 wWeAW &) ‘o’ 3l

‘b’ I HETH WA S 4 § 3N Agem
YAt 400 &1 @) ‘2’ 3R b’ & W
o W@ B A FAT B GHaT 87
(A) 3

(B) 4

) 2

D) 1

Q124 79 A3 B (% @rell €1 &1 B9 30

firte sl 60 e ¥ R w&a &) 7@ C
o0 7 gE <o 3 45 Frre # wreh o
waar 8 aft @ e e ue @R
o & o @l <@ @ 9w A e
4 e
(A) 18 fiFe
(B) 36 fame
(C) 24 fiFre
(D) 30 f=e
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Q125 A and B can complete a task in 60 days and
90 days respectively. With the help of C,
they completed the task in 20 days. [f their
total earning is T 36,000, then considering
that their eamnings are in proportion to their
work, the share of C will be:

(A) T 16,000
(B) T 13,600
(C) T 15,400

(D) T 14,800

LM-D
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Q125 A 3R B farsht &0 &1 e 60 =1 afw
90 &t # wm1 @% W &) C A wEEW
¥, 98 59 & 3 20 R F @ oaw
forar| afe s=a T SAE 36,000 B,
1 78 T g 6 99 g 9 B
@ U ¥ 8, C &1 fewmn faeer ghm?

(A) T 16,000
(B) ¥ 13,600
(C) T 15,400

(D) T 14,800
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Q126 ﬁ%%ma‘rwwﬁpm;ﬁa Q130 ‘g=w ¥ fibvar @ oy sf gemw g+

Q127

Q128

Q129

LM-D

| Ry v e FrefiRed ¥ @ @ B
(A) T

(B) T

(C) T

(D) we™

Frrferftae 3 | @Y wr e Efei 87
(A) Heur
(B) ¥ae
€) ©m
(D) erely

YT A qvHaT o | g |-
YHR &1 a7

(A) srsmETaS

(B) Wadara®

(C) wiwar=s

(D) TOETES

Fr=iferfaa % & @y o aeg ag &7
(A) ERT Ig 9SS forg o) e
B) e vEw A iR AwE A andt §)
(C) & < ¥ Pdaa 7f afew B

D) § s ge oA I €
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Q131

Q132

Q133

(A) Y@ I
(B) T =
(C) %8 & O 8F
(D) <fa e # o

BF-de ™ & wFr— & fog s
GlegiEaeofl

(A) T @ O 9 9N &

B) T8 N w4 qwF @ ura
(€) T F1 JW I BT W

(D) 7 == o1, # -

fr=fefea & 9 o @ = aeA
o T 87

(A) W &t T

(B) &&T FEETA

(C) i

(D) =T NS

& wtw @ yfier & dae oF
.14

(A) wER Yo

B) @i g Tt

(C) somiwEE Rad

(D) wwfdems o
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Q134 ‘e’ ateh fv ammiwr & Rl g

Q135

LM-D

#7
(A) wrTed)
(B) & HpmEh
(C) e

(D) aras

‘g AT & wite @ fa ow
% foran mar?
(A) nfewE
B) wRxw
(C) i@

(D) amgfas wra

Frefafaa s &1 s i
3w i fg o et (wee e 136 -
138) & 9w |

et Wt ey BAR we and -l
R, gafoora a1 gav & 4 Bl s,
e a1 sow w9 A, Tl v, A
a1 it w9 ¥, afv a5l 97 4 wwa
a1 HhaR WY ¥ v o @ gaw
THS 97 w4 Wl # ofrm g &, i
TS IR BT IRV IGAT QR GEiT
e, aftes e g wfflsn aren
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Q136

Bl W dEE wged WA wEE @
mm—m,:mw@wa%w.
Fifdegion Fge v foe gawd
diRA B oai m s & A v or
"iafasg &1 =¥ ggr ot Paw
pEmraiEn RigEa waam meaere,
e e AR | fivd sawaa
1 it 7R A 36 g¢ DavimRe @
& fafteraet wgvor A e, waar
3 faferan 4 € s gea @ fov g9
uret & 3 T € W= wige a1 weeg
T | WPl & IR, SRR W TR
@ WUl B W g qvia e e,
wiferama, s geanf wWepa @ wde
wfaat 4 e 8 ) Roo @ @ sRg) A
T e A iy Wit Tl
P AT IoiW DHael I B
gfte R s & | wey v o drer-aga
viftere fmv fan 2, a8 uafy e
wRrf @1 e @

Syt e @ fore ofte Wids qoen)

(A) Wl &1 W
(B) ®f v wpfa
(C) weam =fa

(D) wgpfy =1 wHigd
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Q137 IWET T © IR W gARy &

Q138

LM-D

WP & WKV, ERINOT ¥d YR D

w4 B Y@ 9 T B FET A B

fiverey &2

(A) way wE

®) Faw T A

(C) foat @ & »faal 4

(D) areiifes, wiferard, wayf Tl
g & Wb sfaar ¥

FURIEE TS FT WA P |

{A}Hﬁﬂmﬁmﬁaﬂwﬁ-‘ra%mhg
wot # o gar 8 s owe

IR &1 HIRVT AGAT W G@AT
78, afew favaeed gw wiiftea

AT B

Gl Had gaomAaed fAgEfea
WEHaM Mgdale, Jcgd fama
faffirer & fed SremmE & ik
7y A 58 g MeviwRe @
dra fafterael wpvor & Reme,
waren afre fftmar # & a gy
& forg gv o § 9 aaredE g,
wed AIgE A1 HETd Tl |

T @ o 9 & UF gaw , gE
¥E | W= &Y F1 gey w1 A
war 21 fog o upfy @ awd
uigd @1 wya s o)

(B)

©)

Q139

Q140

I[WEHAAT & IqUeT P 6
T, 98 4 78 & | el & W=
Wt &1 v wgd @ W wiaay
# faremt &1 way @t A gwaT
witere auls gam &)

fiod @ @ Sfaal 3 gae =
# o o wrefte awgeil @
I Sooid Bael I
gfie & for &1 wag vee A
dig-aga wRee for f 8,
78 wofa & fadw wufesgfa &1
Gead ol

TR BT G qeray @ wa e g7 |
(A) fega a3y

@) famwd ava

(€) geMag

(D) T wHET

D)

T S0 @ B A I Iquiefy 9
% ¥ @ fon wamreas w93
forear | 9w 9% u= fw oot % amga?
(A) Fe=or 9=

(B) ¥mded 9A

(C) wmawfds 9o

D) =iRE 73
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Q41 Trifer amdw # sl @1 sy Q145 o 7w A Ty ¥

fwr T ov amga? (A) &
(A) 4 i s P
i (B) 4 i sin © @
j (C) S =it siv O =
(D) &R ¢ iR

Ql46 =M} o M7 3ga w0 H 21 - T
Q142 & wt w1 weffevor o oy @ W @ -

|
i R av f@ar wmr 8 o) Pt et sbine chae i
! § @9 a1 A g sfenfa 7€ s ¥
e (A) oS
i B) ™ W (B) wEEEs
CRE ©) whe
() fga ©) WRermee,

|
Q43 frafam AR uRds AR B A Q147 v waf & B v v o & |
|

(A) o Tl foan ¥ wge o & oW wseh fn
B) & 1 HEeRD 87
© (A) wETE® fsan
| v (B) “rEwEs fFa
|
| Ql44 W' ww # & wr Iuad &2 g
R ©) e e
B) why
€) =
D) ¥
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Q148 Ffafaa § § o919 W Sofod &

Q149

Q150

LM-D

qgfgardt T8 &7
(A) §BF
(B) rATiad

(C) &
(D) iffemn

frrforfeae % 9 @19 w1 wel fdam—g™
el 87

(A) HETEAR-ZIEN

(B) ww-faum

(C) Twefm—faweEn

D) wfe—afte

BBETTATE

U gorch & gwfog M@ B
Fed ¢ I'-Raw v § Frafafe 59
I | W= AP

(A) w=for

(B) T

(C) wrovit

(D) Trofer
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ROUGH WORK /%% &1 & farg

LB6S
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ROUGH WORK /7% w11 & forg
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Read the following Instructions carefully :

frsifafaa Adal & e | v -

1. Out of the four altematives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liable
o be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. snywhere
glse except in the specilied space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

. [Each candidate must show on demand his / her Admit

Card to the Invigilator

Mo candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her

Scal.

. The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not to

have handed over the Answer Sheet and deall with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard to their

conduct in the Examination Hall, All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will band over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed 1o take Candidate’s copy of
answer sheet.

11, Candidates are not allowed to take Test Bookbet with

them. They have to submit the Test Booklet to the

Invigilator after the exam.

WEISIGY P

1. wew e @ foe o ) an Resuf A4 @
Al IR @ v 3l v IR O e W
e UFH M & § 0 N6 $ 71 1ige
4 o | v qR I 3 v ol @
1% W TZT G ST THn B |

yderedt gfiftea &% @ oW o= @ A
4 O UE 99 W @8 3y e | amd |
gl g sEE SR uEe A Prifa
e & afafa a=r=s =1 fored

g W TR UHS @ AFED
wam o1, i & 0 o 4 @aw
ueEn gitrat § o0 3 BT &) gEd 9da
qR®T T4 9TR YA SUSE 6 S
ST |

4, g9 3 & i ghen i
& e wl e 9 LEC R
fered |

g8 WM W e el @ swdse ®)
9 wan yEe fan )

elleres a1 @ e @ A9y At @
fas wid gl sre Wi A B

T P ATOES BT YA IO GHS Ay
faen ofemefl s wm d e af
frel wdemedfl A oufefy vsd @@ swmr
8 f&U o ug AFm e @ 9EF 9T
ywE 8 e & 3w s aefe ams @
HIAT HHET ST |

e/ gaaite / ewrafeon aReas &
auapr afifa #)

gden € A areror @ forg el smav @
il Prat vd R g Frafa 2 sefea
et & owW Amel @ e I @
Pt vd fafvdt & arpar g

109081 & Iuier anadl ST UUE o F0EE
® der %) ameEs g apaed #) O
v o apaedt wfty /gt wfty s e
gt e fored S @ o9 o eie @
el & ool ) e vIw o st ofy
el @ 9 W A W W iy 8

1. 9den & suvia afemefl o) wier gitae
wE F=rme s aterd s e
qRasr & gdaref aud oy 5 2
W HEd €|
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